FIELD REPLACEABLE UNIT DOCUMENTATION

Tecra™
520/530/550CDT Series

BATTERY REMOVAL OPTIONAL MEMORY Memory socket cover

Battery pack

Felease Latch
(niot visible)

1. Removetws MZxd silwer screws securning the

1. Prezz in on the battery cowver a2 ch (indicated by an memary module socke cover.
icomi to release it and slide the battery cowver to the 2. Slide a thin object under the cover and lift it off.
right urdil itstops.
2. Slide the battery pack forward to remowve it.
OPTIONAL PCMCIA CARD REMOVAL

PC zard
Eject buttons
hermory sockiet PC =lot cover
,. : . 1. Open the slot cowver.

CAUTION: I:; éfng“;; o &'ﬁ:':;tz'ﬁ;m 2. Ifthe PC card lock s installed, remove the M2 5xd

touch Lelaure the power off for a while to EII.W SCreWsecuring itand I!H out ﬂ.'.e I':".:k'

Ietthé module cool before removing 3. Slide the ejctor forthe card inthe direction ofthe

) arrow. The card will pop out slighthy.

4 Graspthe card and pull it out

TOSHIBA

Tough Enough for Today's World,



FIELD REPLACEABLE UNIT DOCUMENTATION

Tecra™
520/530/550CDT Series

FDD/CD-ROM REMOWVAL Selectable Boy lock

Select Boay releas e nobch FOODVC D-ROR

Tikt leg

Select Bay
m oclule

Selectable Bay cas e

HOD cover
1.Femove the FOO/C O-RORM from the Select Bay
1. Slide the S=lect Bay lock fully in the direction of the CESE .
arrow MOTE: When replacing FODs/CO-KE OMs, same
2. Slip a coin into the Seled Bay release notch and disassembh/assembly &5 required.
tuist to disconnect the module. HOD connector
HDD REMOVAL Flexible
cable
Flaztic

cowver

W2 . EedS
sitver screws

N

man

Trarsparent HO [ bracket HOD
lifttab

1. Lift the HDD bracket to expose the Flexble cable.
2. Carefully pull offthe HDD connector as shown,
3. Use a thin objectto pry outthe plastic cower
protecting theflexible cable. Insertthe thin object
inthe slot onthe cowver and push the cover out
in the direction of the arrow
. Lift up on the corners ofthe hard plastic tab on the
Flexible cable to disconnect tfrom the computer.

HO D cower

1. Remove twas M2.5:5 silver screws securing the
cover and HDD .
2. Lift off the HDD ciower. 4

TOSHIBA

Tough Enough for Today's World,



FIELD REPLACEABLE UNIT DOCUMENTATION

Tecra™
520/530/550CDT Series

DAA MODULE REMOVAL

LAY rmodule
COvEl
Cover notch W2l s ilver 5 or e D AS module
1. Remove the O AA module cover by pulling on the 1. Remove one M2=4 silwer screwand pull outthe
cover notch. DAA module.

KEYBOARD REMOWVAL Keyboard brace

1. Pull the back ofthe beyboard brace fonvard to

CAUTION: Forthe following procedures, please turn releasefour lstches and [ift out the brace.

the computer upside down and secure
thetilt leg withtape, so that it lies flat.
Turn the computer rightside up and open
the dizplay.

2. Lift up the badk of the keyboard and carefully pull
it backwards until theflexible cable is pulled out
from under the palm rest .

3. Lay the keyboard face down onthe palmrest.

TOSHIBA

Tolgh Enough for Today's World,



FIELD REPLACEABLE UNIT DOCUMENTATION

Tecra™

920/530/550CDT Series

KEYBOARD REMOWVAL

TOP COVER REMOVAL

Keyboard
connector

Feyvboard Flexible
cable

1. Lift up the insulator covering the Feyboand
connector.

2. Carefully pull on each side of the connector 1o
release the latches that secure the keyboard's
flexible cable. Do MOT pull more than 1mm. Do NOT
pull up.

Insulator

USBFLD
port cover

1. Rermove the port cowver protecting the USB and
external F DD portby pressing in the middle.

Ground cable from
LC D module

FJ305 PJs, PJS04, PISOE

F2 S
(550 onk
W2 e £ M2 5B
silver screws heer screw
W2 518
brass screw

(550 only)

silwer screws

1. Removethree M2.5xE silwer screws and twao
M2 Sx20 =ilver screws. Make note of the LCD
module ground cable for assembly.,

2. Diconnectthe following six cables: Left spaaier
cable [PJ505), membrane switch cable [PJ10],
LE L cable (PA), FLinverter cable (P15, right
speaker cabla [ PJS04 ), and MIC. Cabla| P 506,

W2 Seed
silver screws

2.5
silver screws

zilver scraws

Fower switch

........ wefive M2.5x4 silver screws from the back
of the computer.

2. Remove six W2 .2xd sibver screws and 11 M2.5x5
silwer screvws from the bottorn ofthe computer.

TOSHIBA

Tough Enough for Today's World,



